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Read the following instructions very carefully and follow them :

General Instructions :

(1) This question paper contains 35 questions. All questions are

compulsory.

(it) Question paper is divided into FIVE sections — Section A, B, C, D

and E.

(i11) In section — A : question number 1 to 18 are Multiple Choice (MCQ) type

questions carrying 1 mark each.

(iv) In section — B : question number 19 to 25 are Short Answer-1 (SA-1) type

questions carrying 2 marks each.

(v) In section — C : question number 26 to 30 are Short Answer-2 (SA-2) type

questions carrying 3 marks each.

(vi) In section — D : question number 31 to 33 are Long Answer (LA) type

questions carrying § marks each.

(vit) In section — E : question number 34 and 35 are case-based questions

carrying 4 marks each.

(viit) There is no overall choice. However, an internal choice has been provided

in 2 questions in Section — B, 2 questions in Section — C, 3 questions in

Section — D and 2 questions in Section — E.
(ix) Use of calculators is NOT allowed.

c=3x 108 m/s

h =6.63 x 10734 Js
e=16x1019C

o = 47 x 10" Tm A1

gy = 8.854 x 10712 C2 N-1 m~2

1
T =9 x 109 Nm?2 (C2
RSO

Mass of electron (m_) = 9.1 x 103l kg

Mass of neutron = 1.675 x 1027 kg

Mass of proton = 1.673 x 10727 kg

Avogadro’s number = 6.023 X 1023 per gram mole
Boltzmann constant = 1.38 x 10723 JK~!
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1. T8 2 cm 1 1S faga fgga 2 x 105 N/C = Tt forega & & 30° & v W fea
2 1 Afe 78 fgya 8 x 1073 Nm & So1-31reul =1 3199a hiaT 7, df 39 fgya & fopeft oft
TSI ST TICATT 3 -

A) 4uC B) 7uC
(C) 8mC (D) 2mC

2. T o R AR 9 T 8 SHE Qe 7 SA 9 yaTfed 8 W@l E Th gE H 2 m gl
W@ ¢ | Th AR ! Al Tehloh TFaTS I GHY TR oh SHRVT A & -

(A) 4.5 x 107 Nm™, 31repdes (B) 4.5 x 1077 N/m, Sfcerieh

(C) 9 x 107" N/m, Sfcerdes (D) 9 x 107 N/m, 3T5%
3. fr=fcRea o o foreeh! grashaficiar gad STaehTel sl Jraeh3fiiordr o A & ?

A) Fm B) e

(C) I FANTZES D) frha

4. 10 cm YT ITEH HIg TR FUS! TFEH BU st T&1 100 7 helt W& Fraehi &

frem 1 T/s 1 9fg 21 & 2, o e fed 2 | 58 Fueell § 9fd emf 2
A 01V B) 05V
C©) 0.75V D) 1.0V

5. i few e forgagrerhta fafsron  ferehl dmesd ae@ A 2 1
(A) T feRmi (B) HeHaGi
(C) TATRM (D) X-ferti

6. o o fopell Tfert samT 5 e =1 Ferfri o a1 & g1 ot ST 7T © | 39kt frefoifia ok e
TS BT ? 1
(i)  TRSIt T hIvfT gerehd,
i) fr =iers

A) (i) 3R (i) G o @A & |
B) (i) Frad w8, W (i) et B |
(C) (i) FrIa w8, Weg (i1) Fedt & |
D) (i) 3R (i) THI A |
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SECTION - A

1. An electric dipole of length 2 c¢cm is placed at an angle of 30° with an
electric field 2 x 10° N/C. If the dipole experiences a torque of 8 x 1073 Nm,

the magnitude of either charge of the dipole, is 1
A) 4uC B) 7uC
(C) 8mC D) 2mC

2.  Two long parallel wires kept 2 m apart carry 3A current each, in the same
direction. The force per unit length on one wire due to the other is 1
(A) 4.5 x 107 Nm™!, attractive (B) 4.5 x 107" N/m, repulsive
(C) 9x 1077 N/m, repulsive (D) 9 x 107 N/m, attractive

3.  Which of the following has its permeability less than that of free space ? 1
(A) Copper (B) Aluminium
(C) Copper chloride (D) Nickel

4. A square shaped coil of side 10 cm, having 100 turns 1s placed
perpendicular to a magnetic field which is increasing at 1 T/s. The

induced emf in the coil is 1
A) 01V B) 05V
(C) 0.75V D) 10V

5.  Which one of the following electromagnetic radiation has the least
wavelength ? 1
(A) Gamma rays (B) Microwaves
(C) Visible light (D) X-rays

6. In a Young’s double-slit experiment, the screen is moved away from the
plane of the slits. What will be its effect on the following ? 1
(1) Angular separation of the fringes.
(1) Fringe-width.
(A) Both (1) and (i1) remain constant.
(B) (1) remains constant, but (i1) decreases.
(C) (1) remains constant, but (i1) increases.

D)
55/5/1

Both (1) and (i1) increase.
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7. qareed ) % e wiet 6 3l B 8

A) he (B) he/r
(C) A/he (D) Ahle
8. UM HE&AT 64 31X 125 o Tl ATk o T Tl ST STUTT &Il &
64 4
A) 195 ® 5
© 2 ™) 1

9. ﬁ?@p-nﬁﬁi%ﬁ'ﬁﬁ@ﬁw
A) fomro g § 9fg Bt ® |
(B) 319aTE 9T frd el 2 |
(C) Toremor um 3R 379aE e eFi fd Tl 8 |
(D) fereor ey @ fer Tadt 8, WReg STUaTE R §HT URIST o THH g o sedl @ |

10. ETSEISH THIY & SR-ATeA § TRt Soiagia o IR HA-T ol 3@ H ST T 7 |
39 GhHUT 1 TEATHT fEH I@fSid wie ) Sl S=ad 2t |

n=4
n=3
II
. n=2
1AY
n=1
1 111
@A I (B) II
(C) III (D) IV

11. = few e H & UT% T forsf o1 o G o To=oT 1 398 Heg ¢ el quTesd o J1Y
o Frefa e g 7

p N p N
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p N p N
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(A) hcA
(C) Ahe

and 125 is
64

A) 195

(©)

(A)
(B)
(©)
D)

10. The

have the highest energy.

(A)

]
4

The energy of a photon of wavelength A is
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(B) hc/r
(D) Ahle

B)

D)

During the formation of a p-n junction :

diffusion current keeps increasing.
drift current remains constant.

SIS

—

The ratio of the nuclear densities of two nuclei having mass numbers 64

both the diffusion current and drift current remain constant.

diffusion current remains almost constant but drift current increases
till both currents become equal.

diagram shows four energy level of an electron in Bohr model of
hydrogen atom. Identify the transition in which the emitted photon will

II

v

I
I

(C) TII

particle momentum with its associated de-Broglie wavelength ?

(A)

©)

55/5/1

p/

N

III

~

> A

p/

N

> A

B)

IT

D) 1V
11. Which of the following graphs correctly represents the variation of a

B)

D)

p/

N

p/
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o TetfE o8 g 4 pF 1 8 39 YR SAiSd fohdm STan 8 o6 wsq <6t g

oTRar 6 pF &1 | 38k fore qenfier o1 st feman s =fee

(A) dRiHIURE A

(B) =i oA

(C) T At TS T e & Iee o

(D) @I IS HAISH I ATEL o A1 A0ft

Fr femm T o T HUa Rt ac Ha @ Gt foRet Soft LOR ity & fow @t 2 2

A) afe & it 3l & gfg S 8 1 afwer & sfqemer dget gedt 2 ot R sedt |

(B) 3t aftae 3 =2 wfeamd (X, — X ) 35 Ffeie & s 81 S0t 8 9 9 dieedl §
45° S EA 2 |

(C) 3TFTE W 3 o Tl W forver ura e & fadi W forva ura @ s1feres g 2 |

(D) 3TATE R GG o FaRi W T uta Ites o foki o fervrar umar @ 31feres g 2 |

g frgTa o TTER fedftares aifirent &1 S

(A) 3T 3R 4¥ G TEnai 4 99 BT 2 |

B) 1 feun & rfrman 3R uwa fem A @ B@T 2 |
(C) 3w feun @ w1 3R wv= fem A BT BT 7 |
(D) 37 feom H Bier 3fv wew femn H o B 2 |

BTSN TRHY] o SR Higet H ndl shef1 o Brsern freferiaa o & fohaes srgfass gt 8 2

(A) n? B) Tz

Bl—= B |~

(C) n (D)
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12. The capacitors, each of 4 uF are to be connected in such a way that the

effective capacitance of the combination is 6 pF. This can be achieved by
connecting 1

(A) All three in parallel
(B) All three in series

(C) Two of them connected in series and the combination in parallel to
the third.

(D) Two of them connected in parallel and the combination in series to
the third.

13. Which of the following statements about a series LCR circuit connected to
an ac source is correct ? 1

(A) If the frequency of the source is increased, the impedance of the
circuit first decreases and then increases.

(B) If the net reactance (X; — X) of circuit becomes equal to its
resistance, then the current leads the voltage by 45°.

(C) At resonance, the voltage drop across the inductor is more than that
across the capacitor.

(D) At resonance, the voltage drop across the capacitor is more than that
across the inductor.

14. According to Huygens principle, the amplitude of secondary wavelets is 1
(A) equal in both the forward and the backward directions.

(B) maximum in the forward direction and zero in the backward
direction.

(C) large in the forward direction and small in the backward direction.

(D) small in the forward direction and large in the backward direction.

15. The radius of the nth orbit in Bohr model of hydrogen atom is proportional

to 1
@) n? ® -
© n ®) +

55/5/1 I — | Page 9 of 24 P.T.O.
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(R) w&iet T 71 2 | 39 99T & TEl 39 b1 19 feu MU ahTg (a), (b)), (c) 3R
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(A) 3fRLE (A) 3R SR (R) THI 9 & 3T SR (R), AR (A) 3hi & e
2|

(B) FARERYA (A) 3R HNT (R) GHI T & 3R HRU (R), 3RS (A) h1 &l =ame
TEE |

(C) IR (A) TcF 8 3SR (R) 3ET 2 |

(D) AR (A) 3T 8 M HRT (R) H 10T 2 |

16. IR (A) : ot A1 srefarmeres o wfokie & 3 a9 § gfg o w1 gfg Brft 2 |
SR (R) : Torelt A1 31¢f=eteh § a9 o gig B T AT Soragi-T TR el GHI 3l T
Hg B 3 |

17. HARBYT (A) : fou e Jeash 7 A 3t B & = gog ufali 2R 7 |
HR (R) : g+t uferlieres qroel & GG & |

2R
————AA————
2R 2R
Ao——fvzvﬁ/v——'vvw AAAA *B

AN
2R

18. HARFHUA (A) : STl Topet STRIaTE) U191 o1 et Jraiehid &1 b1 fer o oiesrad gt & ol 3¢
TR faaTeh S-Sl I 21 § |

SR (R) : et grachra & B § ol st @ 3 wren i ferdes aret-arreped
ﬁaﬁiﬁwaﬁﬂw(ﬁgw)ﬁm%l
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Note: In question number 16 to 18 two statements are given — one labelled
Assertion (A) and the other labelled Reason (R). Select the correct
answer to these questions from the codes (a), (b), (¢) and (d) as given

below :

(A) Both Assertion (A) and Reason (R) are true and (R) is the
correct explanation of (A).

(B) Both Assertion (A) and Reason (R) are true and (R) 1s NOT the
correct explanation of (A).

(C) Assertion (A) is true and Reason (R) is false.
(D) Assertion (A) is false and Reason (R) is also false.

16. Assertion (A) : The resistance of an intrinsic semiconductor decreases
with increase in its temperature. 1

Reason (R) : The number of conduction electrons as well as hole increase
In an intrinsic semiconductor with rise in its temperature.

17. Assertion (A) : The equivalent resistance between points A and B in the
given network is 2R. 1

Reason (R) : All the resistors are connected in parallel

2R
———— A ————
2R 2R
Ao——f\g/ﬁ/v——'vvw AN B

AAA
2R

18. Assertion (A) : The deflecting torque acting on a current carrying loop is
zero when its plane is perpendicular to the direction of magnetic
field. 1

Reason (R) : The deflecting torque acting on a loop of magnetic moment

m in a magnetic field B is given by the dot product of m and B.

55/5/1 I — | Page 11 of 24 P.T.O.
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19. <1 AfFAsrHT % ster feafast St % fereror 1 3o w1 o JUehH & o & &9 § g9
ITAT UTh ARG SHIfTT | 3T &1 w1 31 hife S Tiieha 51 (a) AThSs 3R
(b) Sfceryes 2 |

20. (a) Tordl Sl O Geg ¢ il auTeed fohd TehR TeTferd Bidt 8, oia

() SOEH BRI AT HEAT R ? AT
(i) AV dIgadig ?
319 3T T gfY HIfe | 2

AYET
(b) fereft feu mu wremTer omet U o foru feft favwa & fore yepR dita 2 afe 2
()  smmafaa faferor i mafa o gfg F G S 7 3R]
(1)  ATafad ferfertor < e o0 € S ?
319 3T T gfY Fifa |
21. 3 forgagrsehia Tl o1 TE=THT Feht auTeed Tier g & -

(a) 10712 m ¥ 1078 m.
(b) 103 m AT 10~ m.

TeIh oh1 Uoh-Teh UM TIRaT | 2
22. ot sTer wehm forega &= o forelt farega fgga & (a) Tl 3R (b) STRmft Ige &
srfrfe=rme 6 ferror i | Tk enr 1 faga <t feufast a1t fafaw | 2

23. (a) Wmﬁﬁmvammqwmmmm%mm
feafa | 58 et o1 wfmmr e sifreham € @ 2 77 quise R ww A fag ¥, A T,
T TTfd T T 38 oA gRT 39 W TS A T2 Fehan AT 2 | 2
JreraT
(b) forefl sl TR AB # IS G I Yerred 21 & & | 39 R o TR gl d TR geadH
m 37 ST q T DTS HUT G T GITT AR S ¥V A TA9H 7 | 6 60T g ST

ot ST a1t &1t o ToTU =ioTeh e <hifSTe 3T sHeh! fesm vt Ieorg hifo | 2
B
14
} ]
— 1
A
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SECTION - B

19. Draw a graph showing the variation of potential energy of a pair of
nucleons as a function of their separation. Indicate the region in which
the nuclear force is (a) attractive and (b) repulsive. 2

20. (a) How will the De Broglie wavelength associated with an electron be
affected when the (1) velocity of the electron decreases ? and
(11) accelerating potential is increased ? Justify your answer. 2
OR
(b) How would the stopping potential for a given photosensitive surface
change if (1) the frequency of the incident radiation were increased ?
and (i1) the intensity of incident radiation were decreased ? Justify
your answer. 2

21. Identify the electromagnetic wave whose wavelengths range is from about
(a) 10712m to about 108 m.
(b) 1073 m to about 107! m. 2
Write one use of each.

22. Depict the orientation of an electric dipole in (a) stable and (b) unstable
equilibrium in an external uniform electric field.
Write the potential energy of the dipole in each case. 2

23. (a) Write the expression for the Lorentz force on a particle of charge q
9

moving with a velocity V in a magnetic field B. When is the

magnitude of this force maximum ? Show that no work is done by

this force on the particle during its motion from a point ?1 to point ?2 ) 2
OR

(b) A long straight wire AB carries a current I. A particle (mass m and

charge q) moves with a velocity ¥, parallel to the wire, at a distance

d from it as shown in the figure. Obtain the expression for the force

experienced by the particle and mention its directions. 2
B

Ia
T Particle

@
v

55/5/1 I — | Page 13 of 24 P.T.O.
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(1) ST shT Tiaiietar 3R (i1) TeTeh H TRI-E-ca feh JehT THTfeId BRI 7 3T 3T
EAREEISE

25. QA FUSRT C, 3R C,, i Toh GE o HIh! FHehe T@T 1 2 | 3TR@ H G ITTAR FUEer
C, H Yafed 9mr I, % |1 Fusell C, § Uag qrachid Tl ¢, foreror &<dm 8 | 371d
Eﬁﬁrm: 2

b, (wh)
15 A

.l

10 A

5_

0 : : — 1, (4)
9 4 6

() 39 SHALAT T I Y01, 3R

dI
(i) C,FUseh H 100 V emfﬁﬁawﬁ%mmqﬁaﬁqqﬁa(d_;)

g - T

26. (a) ISP ‘p, b ToREl AT H GeRU1 AT IS HAAA T fhel et I8 W
FTITH 10T (i) ST BT TG HAT & | AT 1y (1y > py) AT b TR HIEm
H Yo TR |
Tocfiores TRt 1 TS0 T&FT ST ITAN hich HUATad qiiTehT QAT | 30 TR
TIeT o 37T oh T2 ST TeITIH hITTT | 3
AYAT

(b) ETSE AT T ITAF hih I§ CUISY, b 15 a1 et I8 & FohH TR Tl
Bl & | 39 TehT YUreic oh 42 ol Heamaa shifs | 3
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24. The potential difference applied across a given conductor is doubled. How

will this affect (1) the mobility of electrons and (ii) the current density in

the conductor ? Justify your answers. 2

25. Two coils C; and C, are placed close to each other. The magnetic flux ¢,
linked with the coil C, varies with the current I, flowing in coil C,, as

shown in the figure. Find 2

(I)2 (Wb)/
15 1

rd

10 A

5_

0 : : —> 1, (4)
2 4 6

(1) the mutual inductance of the arrangement, and

dI
(1) the rate of change of current (d_tlJ that will induce an emf of 100 V

in coil Cz-

SECTION - C
26. (a) A plane wave-front propagating in a medium of refractive index ‘p;’
is incident on a plane surface making an angle of incidence (). It
enters into a medium of refractive index p, (uy > p,).
Use Huygen’s construction of secondary wavelets to trace the
retracted wave-front. Hence verify Snell’s law of refraction. 3

OR

(b) Using Huygen’s construction, show how a plane wave is reflected

from a surface. Hence verify the law of reflection. 3

55/5/1 I — | Page 15 of 24 P.T.O.
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orelt gfaa X o T WIS 220 V 31 TeaTart dlcedt SO i T 8 | 39 qiuy &
0.22 A =h! 9T JanTfed Bl & S SR Sieedl d el /2 a7 uge B | 9« 3t
Aicedt ol Forell 311 I Y o TRl W STTorgerd foparm ST 2, aiae 8§ 9 9o &l ©
3R T IR el bl &l hetl H 2l & |

(i) lFaai X 9 Y o a0 Tl qen (i) o1 qfwy § X 3R Y @1 Joft § Ffera s
U dieedl Sl ST oAl SITaT & a1 TRu H Jatted 9 qiehfofd Shifsu | 3

foret ac wifm 1 SRifafy & gong faga 1 Seora i | saeht wrifafy 1 dga §
U I 3R ING emf & qTeetiines g & foTu Sistes aed shifse | 3

(a) Torelt =1 pueett feoHiet i amr gunfear H gfg fohe SR 1 ST Thdll 8, S
TEq § ol HIfT |

(b) 1E AeaRndiet I, arT o for i Smm g goiian 2 1 g8 (0 — V) wie %
Acerict § iafad % o fog wfee R, i @@ (0 — 2V) IHER & deeHe |
itEfd e % forg gfodie R, 3 STTeReehal 21 & | 36 NedHiHiet o1 Tfale Frd
SHIT | 3

(a) (i) 39THA ! Tepeam gt 3TR Horg TT=e < s forvigd i |
(i) 9 3.95 MeV Tiasl o1l ol his Uethl Ul Z = 79 o Tl A1fyeh hl 3TN
WA AT 8, 38T & 3T AU fesm Ichitd ohiat 8, 1 SWHA i fehean
gl Freifea it | 3
YA
(b) (1) TSI THI] F SR Higet & o Tfnfadt 1 Seorg FfT |
(ii) &R % BTEGISH THTY h Gl el H TIGHAY Ld TRl Sorage ol v
HRT T HINT | 3

Eug - Y
(@) () foneh forga & <61 foma o arefia e e w fepelt o o 9o sotag fohm
TR ITHA T UTed hid &, $Heh! SATEAT hITT | 39 Yh R 3Heh [T SHoTeh
Ted SHITTT | 3
(i) Tereht sl 9 2oft T Tt U8 €1 oets ail A 3R B W o Shifse fomes
TE T § 90g 9ee = 8 | AR A H Solagql 1 §&1 9 ar B i
AT H 1.5 A1 8 | TR A § Sl o 319678 97 3R a1 B ¥ goiareqi &
3TYTE T <hT STTITA HTd SHIT | 9
AYAT
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27. An alternating voltage of 220 V is applied across a device X. A current of

0.22 A flows in the circuit and it lags behind the applied voltage in phase
by n/2 radian. When the same voltage is applied across another device Y,
the current in the circuit remains the same and it is in phase with the
applied voltage. 3
(1) Name the devices X and Y and,

(1) Calculate the current flowing in the circuit when the same voltage is
applied across the series combination of X and Y.

28. State the basic principle behind the working of an ac generator. Briefly
describe its working and obtain the expression for the instantaneous
value of emf induced. 3

29. (a) Briefly describe how the current sensitivity of a moving coil
galvanometer can be increased.

(b) A galvanometer shows full scale deflection for current Ig. A resistance
R, is required to convert it into a voltmeter of range (0 — V) and a
resistance R, to convert it into a voltmeter of range (0 — 2V). Find the
resistance of the galvanometer. 3

30. (a) () Differentiate between ‘distance of closest approach’ and ‘impact
parameter’.
(1) Determine the distance of closest approach when an alpha
particle of kinetic energy 3.95 MeV approaches a nucleus of
Z.= 179, stops and reverses its directions. 3
OR
(b) (1) State three postulates of Bohr’s theory of hydrogen atom.
(1) Find the angular momentum of an electron revolving in the
second orbit in Bohr’s hydrogen atom. 3

SECTION -D
31. (a) (1) Explain how free electrons in a metal at constant temperature
attain an average velocity under the action of an electric field.
Hence obtain an expression for it. 3
(1) Consider two conducting wires A and B of the same diameter but
made of different materials joined in series across a battery. The
number density of electrons in A is 1.5 times that in B. Find the
ratio of drift velocity of electrons in wire A to that in wire B. 2

OR
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(b) (1) A cell emf of (E) and internal resistance (r) is connected across a

variable load resistance (R). Draw plots showing the variation of
terminal voltage V with (1) R and (i1) the current (I) in the load. 2

(1) Three cells, each of emf E but internal resistances 2r, 3r and 6r
are connected in parallel across a resistor R.

Obtain expressions for (1) current flowing in the circuit, and
(11) the terminal potential difference across the equivalent cell. 3

32. (a) Draw the circuit arrangement for studying V-I characteristics of a
p-n junction diode in (1) forward biasing and (i1) reverse biasing.
Draw the typical V-I characteristics of a silicon diode. Describe
briefly the following terms : (i) minority carrier injection in forward
biasing and (i1) breakdown voltage in reverse biasing. 5

OR

(b) Name two important processes involved in the formation of a p-n
junction diode. With the help of a circuit diagram, explain the
working of junction diode as a full wave rectifier. Draw its input and
output waveforms. State the characteristic property of a junction
diode that makes it suitable for rectification. 5

33. (a) (1) Draw a ray diagram to show the working of a compound
microscope. Obtain the expression for the total magnification for
the final image to be formed at the near point. 3

(1) In a compound microscope an object is placed at a distance of 1.5
cm from the objective of focal length 1.25 cm. If the eye-piece has
a focal length of 5 cm and the final image is formed at the near
point, find the magnifying power of the microscope. 2

OR

(b) (1) Draw aray diagram for the formation of image of an object by an
astronomical telescope, in normal adjustment. Obtain the
expression for its magnifying power.

(1) The magnifying power of an astronomical telescope in normal
adjustment 1s 2.9 and the objective and the eyepiece are
separated by a distance of 150 cm. Find the focal lengths of the
two lenses. 5
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SECTION - E

Note : Questions number 34 and 35 are Case Study based questions.
Read the following paragraph and answer the questions.

34. A lens is a transparent optical medium bounded by two surfaces; at least
one of which should be spherical. Considering image formation by a single
spherical surface successively at the two surfaces of a lens, lens maker’s
formula is obtained. It is useful to design lenses of desired focal length
using surfaces of suitable radii of curvature. This formula helps us obtain
a relation between u, v and f for a lens. Lenses form images of objects and
they are used in a number of optical devices, for example microscopes and
telescopes. 4

(1) An object AB is kept in front of a composite convex lens, as shown in
figure. Will the lens produce one image ? If not, explain.

(11) A real image of an object formed by a convex lens is observed on a
screen. If the screen is removed, will the image still be formed ?
Explain.

(111) A double convex lens is made of glass of refractive index 1.55 with
both faces of the same radius of curvature. Find the radius of
curvature required if focal length is 20 cm.

OR

(111) Two convex lenses A and B of focal lengths 15 cm and 10 cm
respectively are placed coaxially ‘d’ distance apart. A point object is
kept at a distance of 30 cm in front of lens A. Find the value of ‘d’ so
that the rays emerging from lens B are parallel to its principal axis.

35. A capacitor is a system of two conductors separated by an insulator. The
two conductors have equal and opposite charges with a potential
difference between them. The capacitance of a capacitor depends on the
geometrical configuration (shape, size and separation) of the system and
also on the nature of the insulator separating the two conductors. They
are used to store charges. Like resistors, capacitors can be arranged in
series or parallel or a combination of both to obtain desired value of
capacitance. 4
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(1) Find the equivalent capacitance between points A and B in the given
diagram.

@)

®]
@

C
A—t—|

o
we)

@

[
1]
C

(1) A dielectric slab is inserted between the plates of a parallel plate
capacitor. The electric field between the plates decreases. Explain.

(111) A capacitor A of capacitance C, having charge Q is connected across
another uncharged capacitor B of capacitance 2C. Find an expression
for (a) the potential difference across the combination and (b) the
charge lost by capacitor A.

OR

(111) Two slabs of dielectric constants 2K and K fill the space between the
plates of a parallel plate capacitor of plate area A and plate
separation d as shown in figure. Find an expression for capacitance
of the system.

| 3 o

55/5/1 I — | Page 23 of 24


https://www.collegebatch.com/exams?utm_source=pdf

“®collegebatch con

(=] =]
G

5551 PN | | Page 24 of 24


https://www.collegebatch.com/exams?utm_source=pdf



